Best model for HELP J143246.447+340126.514 at z = 1.282 x2=0.67
OPTx2=0.51 IRy?=1.49 threshold (OPT IR)=18.26 [um]

Flux [m])y]
=

Relative residual flux .

102 3 . Stellar attenuated
E o R Stellar unattenuated
] . m —— Dust emission
101 4 —— AGN emission
E : = Model spectrum
] . ® Model fluxes
100 - . [ oObserved fluxes
01! 4
— i s, "M“I‘ g :
0 2 _:"';;-. L :
0-3
A ] ]
07" 4
1
| =4— (Obs-Mod)/Obs
O IS S SN B R = . -
T [
-1 T T L A U R e A T T T
c
100 10! 102 103 104 10

Observed wavelength [um]



